Schroff-

Front handle

z| _"' ) Part no.: 10501-005
I LI ?ﬁ:__‘? & e

Features:
= e Load-carrying capacity
30 kg

| L &

Vo w _nexl_ Standard pack quantity 10

i
s | Technical information:
L)
,-'"J i Description A E

o -~

Front handle 3 for 19" front panel | 102 (mm) 88 mm

Product illustrations are exemplary
illustrations and can deviate from
supplied products.

Delivery comprises: Kit

ltem Qty | Description

1 1 Front handle, anodised aluminium extrusion
Accessories:

Part Description

no.

21100- | Pozidrive countersunk screw
234 M5 x 12, zinc-plated, PU 100 pieces

countersunk head screw

?81260- Torx countersunk screw M5 x 12, 4
pieces

21100- Panheaq pozidrive screw

788 self-locking, M5 x 12,

zinc-plated, PU 100 pieces

24560- Torx countersunk screw
183 M5 x 12, zinc-plated, 100 pieces


http://new.schroff.de/catalogue/catalogue.do;jsessionid=BCCE1CCAF5C0EB9DBB9895181DCB128D?act=showProductDetailsPrint&catDetailProductId=4692&lang=us&catId=US
http://new.schroff.de/catalogue/catalogue.do;jsessionid=83AF5A2C68B795E1F455B84BA5CCF7C0?act=showProductDetailsPrint&catDetailProductId=4692&lang=us&catId=US#
http://new.schroff.de/media/images/gross/bza42327.jpg
http://new.schroff.de/media/images/gross/06102068.jpg
http://new.schroff.de/service/login.do;jsessionid=BCCE1CCAF5C0EB9DBB9895181DCB128D?act=loginForm
http://new.schroff.de/service/login.do;jsessionid=BCCE1CCAF5C0EB9DBB9895181DCB128D?act=loginForm
http://new.schroff.de/service/register.do;jsessionid=BCCE1CCAF5C0EB9DBB9895181DCB128D?act=registerForm&referer=Registration&oid=0000000000005aff0001003a&orderId=10501-005
http://new.schroff.de/catalogue/catalogue.do;jsessionid=BCCE1CCAF5C0EB9DBB9895181DCB128D?act=showProductByOrderId&searchTerm=21100-234&lang=us&catId=US
http://new.schroff.de/catalogue/catalogue.do;jsessionid=83AF5A2C68B795E1F455B84BA5CCF7C0?act=showProductDetailsPrint&catDetailProductId=4692&lang=us&catId=US#
http://new.schroff.de/catalogue/catalogue.do;jsessionid=BCCE1CCAF5C0EB9DBB9895181DCB128D?act=showProductByOrderId&searchTerm=24560-182&lang=us&catId=US
http://new.schroff.de/catalogue/catalogue.do;jsessionid=83AF5A2C68B795E1F455B84BA5CCF7C0?act=showProductDetailsPrint&catDetailProductId=4692&lang=us&catId=US#
http://new.schroff.de/catalogue/catalogue.do;jsessionid=BCCE1CCAF5C0EB9DBB9895181DCB128D?act=showProductByOrderId&searchTerm=21100-788&lang=us&catId=US
http://new.schroff.de/catalogue/catalogue.do;jsessionid=83AF5A2C68B795E1F455B84BA5CCF7C0?act=showProductDetailsPrint&catDetailProductId=4692&lang=us&catId=US#
http://new.schroff.de/catalogue/catalogue.do;jsessionid=BCCE1CCAF5C0EB9DBB9895181DCB128D?act=showProductByOrderId&searchTerm=24560-183&lang=us&catId=US
http://new.schroff.de/catalogue/catalogue.do;jsessionid=83AF5A2C68B795E1F455B84BA5CCF7C0?act=showProductDetailsPrint&catDetailProductId=4692&lang=us&catId=US#

MCRYCCTBO HAAEXXHOCTH

000 «HUOKPcuctemc» - 3TO OfepaTuMBHblE MNOCTaBKM LWMPOKOro
CNeKTpa 3NEeKTPOHHbIX KOMMOHEHTOB OTeYeCTBEHHOr0 M MMMOPTHOrO
NPOM3BOACTBA HAMpsMy OT MNpoM3BoAUTENEeN N C KPYMHEULWNX
MUPOBbLIX CKNadoB. Peanusyemass Hawen KOMMaHWenm npoayKums
HacuuTbiBaeT 60n1ee NoNYMUIIMOHA HAMMEHOBAHUN.

Bnarogaps 3TOMy Halwa KOMMaHWs npegnaraeT K MocTaBke
NPaKTUUYECKN He OrpaHMYEHHbIN aCCOPTUMEHT KOMIMOHEHTOB Kak
OMTOBbLIMWU, MENIKOONTOBbLIMU MAPTUAMU, TaK U B PO3HULLY.

bnarogaps paBBMTOVI CEeTuM NOoCTaBLLMKOB, MOMOIraeM B MNMOUCKE U
I'IpVIO6p€T€HVIVI 3K30TUYHbIX nnn CHATbIX C npomnsBoacCTBa
KOMIMOHEHTOB.

Hawa KoMnaHusa 3TO:

. fapaHTNa KadecTBa NOCTaBASeMOn NPOaYyKLNN

. LLINpOKMN aCcCOPTUMEHT

] MWHMMaIbHble CPOKWM MOCTaBOK

. TexHn4YecKasa nogaepxka

. Monbop KoMnaekTauum

J NHovemayanbHbI NOAX04

. fmbkoe ueHoobpa3oBaHue

J PaboTaem no 275 @3
000 «HNOKP CUTEMC» TenedoH: 8 (495) 268-14-82 WHH: 7735154786
MockBa, 125362, Poccus, yn. Email: n@nsistems.ru OlPH: 1167746717709
BuwHeBas, a. 9, K. 1, bnok 104 an

104 8



